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Supposc the price of clothing 15 32 pec unil, the price of food is 34 per unit, and
the consumer's budged is 332 per period,

{a) Firgl, establigh the conditionls) for consumer equitibdum. (4 points)

{B) Now, if the price of food falls from S9 to 32, other dhings constunt, the
quantity of food demarded mereases.

{i) Explain briefly and use a gragh with indiflerence curves and budget lines 1o
indicate flwe income and tubstitation cffects of the lower food prace. (6 points)
(i} Derive the demiand curva of fhod. (4 points)

Suppose that you are hired by the city to set the price for & ticket on the city
subway system. This systems is characterized by a sct of costs that are largely
fixed and thesefore independent of tidesship { SBIEAZC) | In ordec (0 maximize
{net) revennes 1o the ¢ity, you wilk sec Uie price of & subway ticket at where along
the denvand curve, Explain in detsil. {6 points)

Suppose that the cross-prics clasticity of compact disks (CD) to cassettes (5 0.8,
Whee would happen o the vevenucs to casscties producers if CD prices
increaged by (0%, assumang that e cassolis peices did not change? Be
specific in your answer. Verify your answer by diagrams of CD and cassettes,
sepacatzly, {3 points)

( Bt JSuppose ABC Power Plant { S5ITFE Jgencraies pollution. If governroent
impspses Pigovian {excise) 1ax  ( BiEIIR ) on ABC Co. to bring about efficicncy,
however, the consumess wil share the larger part of tax burden, Whyt Use o
graph 1o clearly indicaie the approprivie amouni of Pigovian tax snd illustrate
yout argument. {8 poings)

Swppose the world prices for awamebiles are bulow (he Taiwan's domeslic pnes,
but Uk govenunent requires that car impords are subjected to 4 wiff (FRFE) ot
%,

(2) Use a impeam 1o show who gains and who loses from such a policy. And
exploin why teade restrictions ace so common? (6 poinis)

(B) Hew could you esimats the et wallare loss {deadweight loss) from such a
diagram? (4 points)

(c) The wriff rate will be Jowesed 10 15% afler Taiwan becomes a member of
the World Trade Ovganization (WTO « f5ART RERED). What kind of vesponscs
(0 shae]e & pestlt woudd you ¢xpuct from 1he dvtomobile industry and the domestic
consumer? {4 poinks)
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